
©Copyright 5/11/2013 AR-Rev00

TN1110 - KN1110
SPECIÁLIS BUKÓCSŐ

HONDA CROSSTOURER 1200cc (2012)

SZERELÉSI ÚTMUTATÓ 1/5

N° Leírás Méret Kód Mennyiség

1
 BUKÓCSŐ

-

- 2 (Jobb.Bal)

2 ÖSSZEKÖTŐ ELEM 1

3 Rögzítő elem GL2103 2

4 Csavar
TCEI M12x100  1.25 1

5 Csavar
TCEI M12x70  1.25 2

6 Csavar
TCEI M12x90  1.25 - 1

7 Csavar TEF M8x20 - 2

8 Kupak Z2160 4

9
Eredeti Alkatrészek

- - -



©Copyright 5/11/2013 AR-Rev00

TN1110 - KN1110
SPECIÁLIS BUKÓCSŐ

HONDA CROSSTOURER 1200cc (2012)

SZERELÉSI ÚTMUTATÓ 2/5



©Copyright 5/11/2013 AR-Rev00

TN1110 - KN1110
SPECIÁLIS BUKÓCSŐ

HONDA CROSSTOURER 1200cc (2012)

SZERELÉSI ÚTMUTATÓ 3/5

ELTÁVOLÍTANI

ELTÁVOLÍTANI

X2

9



©Copyright 5/11/2013 AR-Rev00

TN1110 - KN1110
SPECIÁLIS BUKÓCSŐ

HONDA CROSSTOURER 1200cc (2012)

SZERELÉSI ÚTMUTATÓ 4/5

3

3

1

7

2

9 9

9

9

9

3



©Copyright 5/11/2013 AR-Rev00

TN1110 - KN1110
SPECIÁLIS BUKÓCSŐ

HONDA CROSSTOURER 1200cc (2012)

SZERELÉSI ÚTMUTATÓ 5/5

1
8

8

5 4

JobbBal

5 6

Jobb Bal




